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m2 m2 m2 m2 m m3 m3 m3 m3 m3 m3 m3
1 2 3 4 5 6 7 8 9 10 11 12 13 14
0 0 0 0
0 0 27,5 0 0 0 0 0 0 0
027,15 O 0
0 0 26,02 0 0 0 0 0 0 0
053,52 O 0
0 0 46,48 0 0 0 0 0 0 0
100 0 0
0 0 38,71 0 0 0 0 0 0 0
138,71 0 0
0 0 51,58 0 0 0 0 0 0 0
190,29 O 0
0 0 49,35 0 0 0 0 0 0 0
239,64 O 0
0 0 48,66 0 0 0 0 0 0 0
288,3 0 0
0 0 49,82 0 0 0 0 0 0 0
338,121 O 0
2,5 0 61,88 | 155 0 0 155 0 155 0
400 5 0
2,5 0 36,5 91 0 0 91 0 246 0
436,5 0 0
0 0 49,08 0 0 0 0 0 246 0
485,58 O 0
1,2 0 64,42 | 77 0 0 77 0 323 0
550 2,3 0
2,1 0 34,79 73 0 0 73 0 396 0
584,79 1,8 0
2,3 0 65,21 | 150 0 0 150 0 546 0
650 2,8 0
2,8 0 32,67 91 0 0 91 0 637 0
682,67 2,7 0
2,4 0 23,81 57 0 0 57 0 694 0
706,48| 2,1 0
1,1 0 21 23 0 0 23 0 717 0
727,48 O 0
0 0 45,16 0 0 0 0 0 717 0
772,64] O 0
0 0 47,88 0 0 0 0 0 717 0
820,52 O 0
0 0 27,9 0 0 0 0 0 717 0
848,421 O 0
0 0 22,4 0 0 0 0 0 717 0
870,821 O 0
0 0 46,85 0 0 0 0 0 717 0
91767 O 0
0 0 48,41 0 0 0 0 0 717 0
966,08 O 0
0 0 27,04 0 0 0 0 0 0 0
a0 12 n n




YUV, &

SUMA

77

"7




